
F314 Linear Algebra: Quiz 5 March 1, 2024

Name:
1. Compute the convolution a⇤b where a = (0.1, 0.3, 0.2) and where b = (1, 0, 0, 0, 0, 0, 1).

2. In this problem we represent polynomials as a vector of coe�cients. For example,
p(t) = c1 + c2t + c3t2 is represented by the vector c = (c1, c2, c3).

Determine a matrix D such that if p(t) = c1 + c2t + c3t2 is a quadratic polynomial, then
d = Dc is the coe�cients of the derivative polynomial p0(t) = d1 + d2t.
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C-0
(1 , 0,0) -> 10, 01

02t-> (0 , 1 ,0) -> (1 , 0)

(zt-2 (0,0 ) -> (0, 2)

D = 8 ! %[


